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Beam test result
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Electron (black); Pion (red)
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5 GeV/c Electron (blue); Pion (red)

Geant4 simulation PS beam test data
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5 GeV/c Electron (black); Pion (red)

Geant4 simulation
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New variables
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Slratio: TrWidth
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5 GeV/c Electron (blue); Pion (red)

Geant4 simulation PS beam test data
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Counts

10 layers; layer ratio|]
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10 layers; 5 GeV/c Electron (blue); Pion (red)
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10 layers; 5 GeV/c Electron (black); Pion (red)
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10 layers; Slratio; TrWidth; energy resolution
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10 layers; nHitsRatio x%
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10 layers; Energy resolution
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resolution: 73.98 / 4361.35 = 1.70%






